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QUESTION 1

A vSphere ESXi 5.0 server is connected to a VNX LUN with several virtual machines on VMFS datastores. An
administrator wants to take a snapshot of one of the virtual machines on the LUN. Which method can be used?

A. VM SnapShot

B. SnapView SnapShot
C. Storage vMotion

D. MirrorView session

Correct Answer: A

QUESTION 2

A customer placed their application data on a thin LUN created from an existing pool. The thin LUN is reaching capacity
and cannot be expanded due to capacity constraints on the pool.

What is the best way for the customer to reclaim some of the capacity on the thin LUN?
A. Compress the thin LUN

B. Defragment the thin LUN

C. Migrate the data to a new LUN on a new pool

D. Migrate the data to a new LUN on the same pool

Correct Answer: A

QUESTION 3

A customer wants to test the workload response of a newly-implemented EMC VNX for File that will support a Windows
client environment. The customer confirms the application workload will be 80% random writes, of 8 KB or less in size,
with bursty patterns of write I/O. Which tool could be used to simulate this workload for testing purposes?

A. server_stats

B. nas_stats

C. Unisphere

D. lometer

Correct Answer: D

QUESTION 4
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An Incremental SAN Copy (ISC) session fails to start. You investigate and determine the source LUN has trespassed to
the peer SP. How can SAN Copy session be recovered?

A. Change the target LUN SP ownership to match the source and transfer the ISC session to the corresponding SP.
B. Trespass the target LUN back to the new owning SP and restart the ISC session.

C. Destroy the target LUN, recreate it using the current SP owner and recreate the ISC session.

D. Manually transfer ownership of the ISC session to the current matching SP of the source LUN.

Correct Answer: A

QUESTION 5

Which RecoverPoint/SE Consistency Group copy consists of all of the volumes that are the targets of replication for a
specific Consistency Group?

A. Local Copy

B. Production Copy
C. Repository Volume
D. Journal Volume

Correct Answer: A
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